PDF Compressor Pro
[SET-3

Serfes : TYM wE

r Code Mo, 30‘{3
T A, il e 1 I - % -
Rall No, T A o |

Candidates must weite the Code on
the title page of the answer-book.

® T A B o 5 AT A gRA T 11§

o YT H e w3 ey T s e e - & g - un e |
o Y S O T - H 0 W

( o FUE A H IR R OF T ° e, TR w0 s v fad

o H NE-TAFH g & Torm 1% e w wwm fem v & | see-am w P s A 10,08
o [ T | 10,15 w90 @ 10,30 79 v 9T e E-TE ) 0En ofn e ol &

. BT @ TR~ I e I A e |

\ & Please check that this question paper contains 11 printed pages.

«  Code number given on the right hand side of the question paper should be written on
the title puge of the answer-book by the candidate,

. Please check that this question paper contains 30 guestions,
*  Please write down the Serial Number of the question before attempting it.

y— . 15 mimute time has been allotied 1o read this question paper. The question paper will

be distnbuted at 10,15 a.m. From 1015 am. to 1030 a.m., the students will read the

( question paper only and will not write any answer on the answer-book during this
periad,
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Creneral Instructions :

fi} Al questions are compulsory.

fit) This guestion paper consisis of 30 guestions divided fnte fowr sections - A, B, €
and D,

(i} Section A containg 6 guestions of 1 mark each. Section 8 containg 6 guestlons of
2 marks each, Section © contains 10 guestions of 3 mavks each. Section D cantaing
& gquestions of & marks each.

{tv]  There is no averall choice, However, an internal cholee has been provided in four
guestions of 3 marks each and 3 guestions of 4 marks each, You have to attempt orly
one of the alternatives in all such guestions,

(v} Use of calcwlator is nof permiited,

qSE-3
SECTION-A

TTREE 1 H 60 TEE T 1 HEE R

Question numbers 1 to 6 carry 1 mork each,

. {cos® 67° - sind 23°) &1 9 &1 B ?

What is the value of (cos?® 67° — sin® 235 7
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afe v wHT A 7 A~ () = - 4 T HE TG (a) = 4 8, 9 W AT B
Hifau |
In an AP, if the common difference (d) = -4, and the seventh term (a.)is 4, then find the

first term.

%A A ABC
ﬁm%ﬁanﬂcmﬁmﬂt.‘rﬁ i g T s i |
Given A ABC ~ A PQR, if ;g ;.ﬂ'tenﬁndari;gg. |

e # B AT FEH A BE E B W S m A, (HOF) 8 7
What is the HCF of smallest prime number and the smallest composite number 7

s fifg Pix, y) %t 1 v & off s difr |
Find the distance of a point Px, ) from the origin,

afE = 3, Teria wftenon 2 - 2ke - 6 = 0 1 0% T8 B, 1 k T9H 7R Hifdg |
If = 3 is one root of the quadratic equation x* - Zkr - 6 = 0, then find the value of k,

g -
SECTION - B

W A T 2 AR S e 2 s ¥ |
Question numbers 7 to 12 carry 2 marks each.

w1 Ffie el = wek wny FeTen | S e s ST T shira
(i) en s v
(i) B STl T 3w w5 dm 10 37 |

Twe different dice are tossed together. Find the probability :
{iy of getting a douhlet
{ii} of getting a sum L, of the numbers on the two dice.

3 [PT.0,
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Find the ratio in which P(4, m) divides the line segment |eining the piants Af2, 3 and
Bif, =3, Henee find m

4 | sk |4Hi%aﬁaaﬁr-}mﬁiaﬁﬁﬁmﬁmﬁﬁw?ﬁﬁ | snfasm s Rt f ae
T
(i) BET=R
(i) BHWT A |
An integer (5 chosen at random between | and 100, Find the probability that it is -
{11 divisible by &,
(i} not divisible by &

0. FTHA-1 8, ABCD ™ A1 & | x 71 y 3 W e i |

D Xty C
14 ¥HT X=¥
A g i
A - 1
In Fig. 1, ABCD i a rectangle. Find the values of x and v,
[ Xy C
14 cm X—y
A M em B
Fig. — 1

L1, 3% Wum & TRt o6 m i |
Find the sum of first 8 multiples of 3.
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Given that /2 14 wmitional, prove that (5 + 3/2) is an irrational number,

WE -4
SECTION=-C

T W 13 H 22 T WA A 3 A R

Question numbers 13 to 22 carry 3 marks each,

13, &g A(=2, 1), Bta, ). C(d, by T91 D1, 2) 7% BOFL 047 ABCD % ¥id firg &, 1 amen
b % WA A RN | A 50 = vt s i

HEET

M A5, 7). B 4, 5, Cl—1, - 6) 71 D4, 5 75 F349 ABCD & 9fd Rz §, Framds
| ABCD %1 858 74 i |

I ALZ 1) Bia, (0, ©F4, by and D], 2) are the vertices of a parallalogram ABCD, find
the values of o and b. Hence find the lengths of its sides.

OR

I ALS, T) Bi-4, -5}, C(-1, =6) and Di4, 5) are the ventices of a quadrilateral, find the
area of the quadrilateral ARCD.

14, AR EETE (2 - O + 52 + 3x — 1) B B I=E 2 443 7w 2 —+F) # 3 wmE ad
YIS I Hifam |

Find all zeroes of the polynomial (2¢* — 9% + 5% 4 Ax — 1) if two of its zeroes are
(2 ++/3) and (2 -3,

15, 404 79796 1 9.5, (HCF) 77897 @.49. (LCM) 73 $173 aur e e gemes $ifam
HCE x LCM = 314t €1 mé wremait =1 mreee

Find HCF and LCM of 404 and 96 and verify that HCF x LEM = Product of the two
given numbers.

M3 5 Tk
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18,

19.

M3

firg <P T e w3 g 0 it o el - < et R E

Prove that the lengths of tangents drawn from an extemal point to.a eirele are equal,

farg it i fireft =l 6w a0 WA, U wHaTg g w dEse, e R W
T e Ty Bgs % deee = s e |
v

afe 2 oen Fogdi & Swe 7 A, & firg i 6 9w Fgd eshrem 29 2 |

Prove that the arca of an equilateral triangle described on one side of the square is equal
to half the area of the equilateral triangle described on one of its diagonal,

OR
If the area of two sinular trigngles are equal, prove that they are congrient.

% A i P w2 90 fime & Rewe @ e 1 1500 Rreiniter 6 gt w s
T W Hie T T g & fere 9 A wmee e F 100 fed e w9
ATLHT T AT 1A A A |

A plane left 30 minutes late than its scheduled time and in order to reach the destination
1500 km away in time, it had to increase its speed by 100 kivh from the usual speed.
Find its usual speed.

21 77 il # 280 ST o S A A T A

¥ (g 0 8 | it g
3-10 44
=15 133
15 -20 63
2025 15
25 = 30 6
30 - 35 7
35— 40 4
40 - 45 2
45 - 50 | i

T SRR W AT Sa T e S |

&



PDF Compressor Pro

The table below shews the salaries of 280 persons

Salary (In thousand | /) No. of Persons

510 49

10-15 133

15 - 20 63

20— 25 15

25-3 &

30— 35 s

35 - 40 Fa e R
40 — 45 2 |
45~ 50 | ;

Calculate the median salary of the data.

O o pw ey S R ——
| S T a2 H i mn # | of e o s 10 S R 3 s ) B 3.5
! 2, 7l 58 a1 wyl gt e e i |

e 5 U & 9% % w2 faws g o = 24 o wen e as R ) e
( ] SR T TR | 3 S - T 3 T FRR e i e § 7

A wooden article was made by scooping out # hemisphere from each end of a solid
cylinder, as shown in Fig. 2. IT the height of the cylinder is 10 ¢m and its base is of
radius 3.5 cm. Find the total surface area of the article,

A heap of rice is in the form of a cone of base diameter 24 m and height 3.5 m, Find
the volume of the tice. How much canvas cloth is required to just cover the heap ?

3013 7 [P.T.0.
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21, wTE-3 i e W R i e | ABCD % 77T A, B, C 791 D &
Sz T o it T ST AR AR, BC, CD #1 DA % e g #E: P, Q R ¥ S
e -] i FTE B Ee e g 128 R 1 = 3,14 W)

R
Hp — 3
Find the aren of the shacded region in Fig, 3, where arcs drawn with cenlres A, B C
and D intersect In pairs at mid-points P, Q. R and § of the sides AB, BC. CD and DA
respectively of a square ABCD of side 12 om. [Use = 3.14]

A {4 5inB-—cosB+1 :
22, AW4mnB=27%, 'kdﬂinﬂ+c_u1-.ﬂ—l] &1 W T R |

ET
T tan 2A = oot (A — 187, T 24 TH S EEE, A A =1 ur i wifa |

(4sin@-cosB+1)
If 4 tan H=3-“"“1w|k.ﬂ.nin H+cl:|5El—1)I

OR

If wn 2A = cot (A — 18%), where 2A is an acute angle, find tha value of A.
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SECTION - D

T W 230 30 TF S T 4 AT R

Question numbers 23 1o 30 carry 4 marks each,

23, HYE-TE H 100 F F= wr-wen o fra # T w S wud e % o s age
AR 45 § | ofs T-arae o w6 S U S gm0, @ 26 e
& Hr i ot 7 i | 43 = 1,732 i)

As observed from the top of a 100, m high light house from the sea-level, the angles of
depression of rwo ships are 307 und 457, If pne ship i exactly behind the other on the

” samie side of the light house, find the distance betwean the two ships, [Use 43 = 1,732]

24, ¥E & o i aem R on andt % frad o ot B % sne e 10 99w
305t 8 | 2wt =B S 24 A 8, A e i

(i) S8 1w e Al g o ot 5 Sawe |
(if) TEe) W R HET RS T e e 7 = 314w

it The diameters of the lower snd upper ends of a bucket in the form of a frustum of a
cone are |0 em and 30 cm respectively. 1T its Beight is 24 cm, find ;

(i}  The area of the meud sheet vsed o make the bucket,

(i) Why we should avoid the bucket made by ordinary plastic ¥ [Use =314

sin A—2 s A
25. Tag%ifam 2:q53ﬂ—rcnsh=tﬂnA
sin A — 2 sin’ A

Prove that 2eos’ A —cos A

=AM

3v3a Y [P0
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26.

27,

kllk

frg sz wromg (%2 =) 19 — 21 i =EEETm 7 B

ELi f1E13 | 1315.] 1517 | IT=iB . 19 al ol =22 | 2229

W 3 f g 13 i 5 4

HEE]
o w7 et Yt 8 50 e} =) BFem s st -

(WP oM (C ) | 100-120 | 120- 140 | 140- 160 | 160 180 | 180 —200

AT T EET E 4 B a 10

AT W U W WS R et e ge ° wafenr af Tae don offfa |

The mean of the following distribution is 13, Find the frequency fof the class 19 - 21.

Class 11-13 [ 13-15 | 15-17 | 17-19 | 1921 [ 21-2% | 2325
Freguency 1 fi 9 13 f 5 4

! OR

The following distribution gives the daily income of 30 workers of a factory |
‘Dally Income (in 1) | 100-120 [ 120-140 | 140-160 | 160-180 [ 130-200
Number of workers | 12 14 8 f | 10
Convert the distribution above 1o & lesy then type cumufative frequency distribution

‘and draw its ogive.

s - Feeh) i e S e 18 R B, 24 Preivier am % el I o, o
ot 9701 3 e W T STE | 52 I Sl £ | T o T e s |

=T

us g e s e o e S s e v i w2 el el o

Hrem 9w 4 6 ffiee sfi o 9me § w w2 | gl e s e 8 ol a e

&, A1 v o = e S |

A motor boat whose speed i 18 kmi/hr in sl water takes Thr more o go 24 km

upstream than (o return downstream to the same spot, Find the speed of the stream.
OR

A train travels at a certein average speed for a distance of 63 km and then travels at a
distatice of 72 km at an average speed of 6 kmvhr more than its original speed. If it
takes 3 hours to complete total journey, what is the original average speed 7

10
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15 O %] 41 2 s e & A 715 8, e s i

i The sum of four Bonsektitive numibérs i an AP iz 32 and the ratio of the product of the
first and the lust term to the product of two muddle werms is 7 ¢ 13, Find the numbers.

20, we Freg ABC =g o BC = 6 %08, AB = 3 8 5fT £ABC = 60° # | v v By
< e e, foe) ST A ABC T e o S TR |

| Draw o triangle ABC with BC = 6 cm, AB =5 cmand ZABC = 60° Then constict a

triangle whose sides are 3 of the corresponding sides of the A ABC.

30, e wwETE FS ARC W BO W fitg D e 5 BD =%Ec% | fim i, &
1 S(ADP = TABR

e
forg R B, e T e et e e 9 2t o e e S e R |

-

]
| In an equilateral A ABC, [ is a point on side BC such that BD = TBC. Prove that
| O{AD) = 7(AB)*
OR

Prove that, in & right trigngle, the sguare on the hypolenuse s equal 1w the sum of the
squares on the other two sides,




